Name ______________________________________________


From the edge of the band tower, a frustrated flute player throws her flute into the air. The flute’s path can be modeled by 


H(t) = -16t2 + vt + s, where v is the initial velocity in ft/sec and s is the initial height in ft.

If the initial velocity of the flute is 64 feet per second and its initial height is 65 feet, what is the maximum height that the flute will reach?

a) Create a sensory image that describes this situation

b) Write a sentence explaining what you need to find to answer the question.

c) Solve the problem, and answer with a complete sentence.
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